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���� �����H,7�38 DC-link (5�� F -G�.  �� <���= 6� � ��%K� � +��& 
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�$ a>�# ���#�. 7�38� � 2, �� r ��� +\�5� DC-link   5"�
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�$ 
���� 6� 2d ��
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� �� %$� �� 	$�& PSS 1�32& �2��;) II(.  

3( 7�38� �����H, DC-link �H, +�8� �� �3C& *%22&  5"� �� ���� �3"` & ����   �� �& � # �� *%��

)1� # �� *%�� (.  

1�32& �2��; %2��C$ II�� �
-. �� D PSS  D()� �� >��� 1�2I�) �� ��� *�� �� r��,�� �� ���� *%# M2$�C$

 +"# �� �& � G��C$2 �� �.��0 
��� �2��; <�%2` .()� *%# *��� 6��� PSS ���� � �� M2$�C$: i)  1�32&

 *%22&+��&) �&�C3�) MIMO  ��& �.��0 6� , �� ��.  �� 
��3>�) <�2` �� ���$ *%22& 1�32& D� �� <�� ��

 h� � �& D%��� �� m�� 
��J 
�$ *%���; �� ��� *�� �� 1�32& �&��� �� 1�32& 
�$ 1�2I�) r��,�� �� ���� (-d



 

 

 �� D� # �� 1�2I�) 6��� ()� �� 1�2I�) * 
8�� 
��o= h�)B � ��>t,2 _ -�) �&�C3� ��N *%22& 1�32& ��3>�) (

()� �3J�; ���? _�K� 
�$ (��) �� �"���J � 0 �� �$ *%22& 1�32& �& (7�3� �.  �� �&�C3� ��N �I�� 
�����

�� %2,���d �&�C3�:  

1()� �&�C3� 1�32& �� �� �3C& �-�> �&�C3���N �8�32& �� �2��$ 
�$%���= :
���J� (�) �;��)(.  ��

� 1�32&
��� �&�C3  +��# ���>��&  
���� �, 
��J 1�
3�� 9�� ,-����> �, (SISO). 

2 	$�& h� � �& ()� �3C& ���5� 
�$�3����= 
���� �&�C3���N *%22& 1�32& 
��C@� :4�A2, 
�$�3����=(

� # �� 4�A2, �2��$ � 6��� �� 
��IC�`.  

3C3� ��N ��3>�) :1�2I�) a
� �� +CK, � 
��o= u�G@�� ( �, %$� �� *���� �&�TSO  ���? �� �� 1�32& 435�)

 �&�C3� 1�32& uX> �� D�%� 6� 2d �� ���;�%� �� ! �� T���) �� k��> � +>�� �� �$ 435�) ��� 6���

MIMO  �� 6��� ()� �� ���� D%2& 4$��J �� 
�3��� ���P %�� , �� <�� .()� +��
3� 1�:,� l���# 
���� �&


�$ �
-. 
�� 1�2I�) 
���� *%��� �?�� 1�32&-���o; �C� ��P�, ����>  

  

 +"#4 �� Cd _ -� :n-input Dn-output  1�32& 
�$ �2��;) *%22& 1�32& (�&�C3� ��N)III.(  

1�32& 
�$ �2��; 
��� �� Cd 1�32& ��3>�) PSS *%22& 1�32& �� <3J�; �A� �� �� MIMO  �d CE� �� �&

 *%# �%� 
�$ *%22& 1�32& �� 
� +"# �� D()� *%# �%�4 ()� *%# *��� 6���.  

%$� �� ���? �� , �� � �� O J +\�5� �& %$� �� �\��� 
 ? �= = ,�C$ ��"��� �� �8�
� <��.  

IV �>�.���� '�  ��?	�� ��  �= ������ ��	�
 �
��@  

���; �� �� ! �-.�� �� �� 1�32& �.��0.  D�&�C3� 1�32& �� D1�� �-.�� ��GC (s) � �� 
�$ c�� �� *��Q3)

] �� *%# c���;13] D[14� # �� ��)�K� [.  ��3>�) +��& T��,�� �� D1�32& h��� T��,�� D^�� �-.�� ��



 

 

 D�&�C3� ��N 1�32& �� e�! , �& T��,�� _ -� ��3>�) T��,�� �� D�&�C3� 1�32& �� l) , *%# e��@,GD 

(s)� # �� *��� +"# ���H, D.  

(89�  �
��	� �
��@ ���
 ��	�
 (��	,�� ;��
)  

*%# �G> 435�) 1%� �� Gi (s) %�2& 6��� ��� �� ! �� �� � # �� 6��� �38��� (8�. 
�iJ �� �&:  

  

 �,��-Cd l���# <� �& ����  �&�C3� �G> �� >��� *%22& 1�32& �� �& ()� <�� u%$ 4$� �� 6��� ��

 +��& 1�32&:�& ���� D4�2& �32)  

  

 l) , �35� �
-. 435�)  �& ���� D()� *%# *��� 6��� (8�. (8�. 6��� �� r ���

 l) , �
-. �35� 1�
3�� 9��, .()� *%22& 1�32& � *��; ���&�,  
�W5��,�� ��

 435�) :l) ,  

  



 

 

  

 +"#5�� �35� �
-. 
�$ hG? 
��� �
G2� .  Dζ = cosθ.  

) (��q, 
���2) l) , (3D�&B 6��& �%�= D(  �   
��� D()�
���?�� u ��=��8:  

  


��5��� ) �8��@� ��5 (��d� D1�. <�� �� .()� �Q2� �@G? T��,�� �� v` (C) �� T��,�� �& %$� �� 6��� (


��5��� ) ��5 �� �8�
� <�� .%2& <�Ci, D���� ���? v` (C) �C�� (C5? �� hG? �& �,� ! �� l
J �� ���P D(

] �� �& ()� �#�� 1����13 F `��` �� (��3>�) +��&) �&�C3� *%22& 1�32& �� �� 6%�)� 
��� [
��5��� 

) �G> T��,��LMI <�Ci, +��# �& ���$ (���%K� �� �� �-Cd �� � <�%2` c�� <�� .()� *%# 
��I�= (

 (�5� +?�%. �& D%2& �� <�Ci, �� ���; �� ���? �0���� 	�� �� 6��� *%# �35� �
-. 435�) 
�$ hG?

���� ��ζ = cosθ  +"# �� *%# *��� 6��� D%$� �� 6��� ��5  hG? ^�C, �& %2& �� <�Ci, �35� �
-. 435�)

 �->�� ����� � ����� �� ���� 
�W3�� �� �0���� 	�� �� 6B 
�$θ 6��
3� T��,�� �� �;� l
J � %2#�� �3#�� 

 :�& %#�� �3#�� � ��  

  


��5��� ) ��6 1 :K� 
��. (  *%22& 1�32& 
�$�3����= 9�� , �& ()�Ak DBk DCk  1�32& 
�$�3����= �

 ��"-Cd 6�#� > *%22&  �& � # �� wd�� <�� .%235$  �� �G> ��N �� +�%�,  1���� �� .� #



 

 

] �� �& �,�2��C,13] D[20 1�32& .� C� ��G> *%22& 1�32& ��H3� ���H, �� �� +"�� 6� , �� D()� *%# �\��� [

 �� ! �� �E�3� �&�C3� *%22& .� # �� 6���  

(3 (��� ABC) �9�	�
 D��@  


��� �8�C3.� +"�� �� �� 6� , �C� �� �.��0 �X"�� D�&�C3� ��N 1�32& �� LMI ���%K� +�8� �� (

��� 	$�& Dh��� T��,�� �� F� � 
�$ _ -� +"# �2@� D*%22& 1�32& 
��3>�).  ��& �� ��; C$ ^ WQ� D�� <�� ��

 �� �8�
� <�. %���B ()� �� ��3>�) +��& *%22& 1�32& �� �� �� (2E�� F� � _ -� *%22& 1�32& �� .()� �3J�

� �& ()� *%# ��W2��= �= = ,�C$ ���%��3)� ��"��� c�35; _ -� �&�C3� ��N �&�C3� �8�32& �� �, %$� �� *���

 
��� D%�� *%# �.��0 ���;�%� �� ! �� �& ��3>�) ^�C, �&�C3� 
�$ *%22& 1�32& �� 
� �d CE� �� F� �

%2& 4$��J �� �W�B �0 ��� �,��-Cd l���# (K, �35� �
-. �� �:��� ��"-Cd �� 6�2�C0�.  

4�$� �� *����  ) �� ��54�2& �5� ���� (:   

  

) �2��I��� ��7) �� (5 � �� 1��@� +"�� <�� ( :()� 1��@�  

  

F 9��, 6� 2d �� T��,�� ��H3� �� :GC  � � # �� 6���  

 6��
3� 
�$ T��,�� �� 
� �d CE� :n × n.  



 

 

 (#�����1 :Ak DBk DCk  �� *��Q3)� �� *%# ��)�K� ��3>�) +��& T��,��LMI ] �� �& ()�13 *%# c���; [

 �� �E2� ��� <�� D()� T��,�� <�� �� F� � _ -� ��3>�) 6��� ���? �E2�� �� u%$ �& �E�B �� D1�. <�� �� .()�

 �� +"��
��5���  T��,��Bilinear )BMI.� # �� (  

 �3"�2: �X"�� +. 
��� �,��)�K� �;%�f�= BMI �X"�� �� �3��� ���5� LMI B ���� D()� Y Q� +��?��N �W�

%2#�� �3#�� 
�%@3� 
�$ +. *�� %2�� , �� � %235$.  

�& ()� �&Y �� ^�� BMI ) ��8�� 6� 2d �� %�� , �� ( LMI � # ����� ��. +"�� <�� +. 
��� BMI �$ �� D

�, %� # �� (��P ���", �� ��H3� 
�$ *��; D�-.�� BMI �� �� LMI %2$� 	$�&. ���%K� D�I�� ����d ��
�$ ( 

BMI ) ��8
�$ (���%K� �� 
� �d CE� �� ! �� 6� , �� �� ( LMI �� <3#�� �I� �� �3.�� ��  

� # +. 6��� �� �� %��� ��H3� �� l
J �& 
� 0 �� D(��P.  D%#�� ��o= 6�"�� �-!� ��%� *� , a>�# �;� �3.

LMI �;� %2#�� 1 �? +��? ��N ()� <"C� *%# �
8� 
�$  4�A2, h)�2��� %� #.  *%�� Y��,� �� Tx)

�� +�%�, D�= ,�C$ c�� LMI  %#�� �P � ���5� %�� , �� �$.�
�
. �%d �� λ  �� m��%, �� �& ��0 → 1  ���H,

��5� �� � %�2& �)��� �� %2& �� �= , � $ 1�:,� 
��� �� (  +��& 1�32& �� (GC)  ��

F� � _ -� *%22& 1�32& (GD) �& 
� 0 ��:  

  

 T��,�� ��H3� �& ����H  �� 9��, ��GD DP~  �λ .()�  ) �� ��9 �� D%�2& 6��� (λ 

= 0 ��3>�) +��& 1�32& �� �E�3� DGC  �& ���I2$ � (���)�K� ��8�� �-.�� �2@�)λ = 1 ��3>�) �� �� �� 6B D

 �&�C3� ��NGD :()� 1��@� <�� D����� � 0 �� �A� �� � ���W� �-.�� *%22& T"@2�  

  

:()� �X"�� *�� ��> �� �3QW� +. *�� 

 



 

 

 c�� ^�E�� 
����= , � $ 
��� +. *�� �� D �� ��λ = 0  �d CE� �� D�G
� <�� �� .%�2& �%�=λ = 0 

 �� ��GD ) �� %)� �C� �A� ��11 4�A2, � (GD 0  =0 �� 	���J� �;� .λ  �J�& *��%�� �� � # �� �3#�� �I�

 �� %�2& *�I�) �` &λk  F��3�� D(43�� I8� ��GD 0 ����IC$ �� �x�= ,�C$ �� � # �� *��� 6��� 

 

()� *%# *��� Z�# ��� �� *��) +��& 1�32& �� �� ����� � _ -� ��3>�) �� �� 6%�)� 
��� �,��)�K� 43�� I8�. 

 �3"�3F -G� +. *�� �� �� 6%�)� �� (�
J � 
��� 43�� I8� ����IC$ 6���� : (GD)  �� �I35�F��3�� GC 

��5� ���# �G
� � (5�� ��J �� �:K2� �& ���� �= , � $ ) l) , �&9%2& �� e��@, �� � # �� e��@, (. 

6�;%25� �  
�$ *%22& 1�32& �� ���3����= �d CE� �� �� �J��:, 
 E35� �& %$� �� 6���H∞ [21]  %�Q�

*%22& 1�32& �� 6��& �%�= 
��� ()� H∞  
��� �& h)�2� �&�C3�()� ��IC$ 43�� I8� 6B.  %�#�� �3#�� �� ,

�� 
��� 43�� I8� ����IC$ ^%d �& GC  j�$ 
���� �&�C3���N 1�32& +"�� �� �& (5�� �2@� <�� �� DU�>

(5�� +. *��.  

 �3"�4�� �& ()� *%# ��! , D43�� I8� ����IC$ � �W� 
��� : LMI �� ��H3� �� �� �"� 6��& (��P l) , �& �� 

BMI ()%� 4�2& +. D*%�B. %��� � �W� �� �\��IC$ �& %)� �� �A� �� ��� D4���ox� �� ^�� �� �-��
� (5�� ^��. 

 �3"�5: ) 
��� +. *�� 6� 2d ��11+. *�� 4��� , �� �� D(5�� ��J �� �:K2� ( BMI (10)  �� ���# �� ! �� ��

�� � 4�2& ���# 43�� I8� λ = 0  ��5� � 4�2& ���#�= , � $ ��� �� ,�C$ �� 
�3C& ��%@, �� *%�B ()%� <��I

+.��� M ) <��0  D1.(  

^�IC$  1�32& �.��0 ��:��� �� ������; 9?�� 
�$ �d CE� 
��B 9C� 
��� :6�2�C0� (�-��? 
��� �.��0 
��)

 �,��-Cd l���# ���H, �� ���P <���, 
��� �� ��� 1 ��J (��J 4�2& �� ��W2��= �� DO�� 
�$ �"�# 
�����W2��=. 

%2& �� ���H, h-N� ��%? 435�) ��& l���#.  �,��-Cd l���# �� 
��%@, 
��� ��%? 435�) 
��) �G> D�� <�� ��

 D1�q� 6� 2d ��)L(  �,��-Cd l���# �� �@�)� e�0 �� ����� , �& ���$ *%22& 1�32& �.��0 
��� �, %$� �� *����

%22& �� 4$��J ��. � �� *%# ��W2��= 43�� I8� (8�. �� R�)� �� �&�C3� �, *%22& 1�32& �� +�%�, D�-�? 	�



 

 

%2& �� �.��0 �&�C3� ��N *%22& 1�32& �� �� �� U�> �,��-Cd. �,��-Cd l���# 
��� 4�C@, �� l  �� %�� , ��

�� �� , �� *%# �&�C3���N �8�32& �� �� �E2� �& � # �3J�; �A� ) ����@� 
���7 (- )9 �� (

� #.  

 
����&�C3� 1�32& �� %���oI� D<�� 6��� 6��� GC 1 � GC 2 ��%? 435�) 
�W8%� 
�2�� �� �& �� 

 �4���I� �A� �� D*%# �.��0. D�= , C$ e-3�� ��5� �� /��0 ��

 �  GD1 � GD2 ()� *%�)� ���;�%� � 0 ��.  6��& �J��� ��

�8��@� (���%K� GD1 = GD2 �� ���? �&�C3� ��N �8�32& �� D� # �� �,��-Cd l���# �� (��q,.  

 D�&�C3���N �8�32& �� �& <�� �� 6�2�C0� 
��� 4�C@, ��GD  �� %�� , �� D%2& �� (��q, �� ��& l���# ���P �&

) ����@� 
��� ��� 
�$ 435�) e���@, e��@,8 (- )9.� # +Cd �-�? �� ! �� � � # a��� (  

  

�&  

  

#�� �� �= = ,�C$ c�� F��3�� +�8� +. *�� �G
� �� Fo� �2��� �& %# *%$��� �& ()� 6B ���", 1 C@� 
�W

()� �= ,�C$ 
�$ c�� �� �3"` & ���5� � C@� ���", 
�$ c�� 
���.  D43�� I8� (�$�� �� �� , �� D1�. <�� ��



 

 

+"�� 
��� +. *�� �� �& (5�� �2@� <�� �� ����IC$ ^%d BMI ���%� � ��. 
��� %�� , �� 1%� 	$�&  	$�&

%��� � �W� �� ����IC$ 6��� �� <�� �� � �,��)�K� ���.  

4.  E	F�� GH�=��2 %&B�� V. CASE STUDY I  

 *%# �3>�2# D1�� 
�� � �@8�G� 
���4  D*�I3)�2  �3J�; �A� �� +.�) �� �"�# 6� 2d �� 435�) 6 ��B �
G2�

()� *%#.  (J�� 6� , �� �� *��Q3)� �� � 
�$�3����=.  

 ��WF  �� �d�@# �� ! �� �-.�)R�� 7  %� �= /��0 ��VSC-HVDC  ��G?��± 150  +:3� 1�38� -�&

 +"# �� �& � G��C$ D� # ��6  .()� *%# *��� 6���WF  +��#100 ) 
��� <��� , � ,���7WTG ���3�� �� (2 

 D����I�0.69  1%� .()� (8� -�&WTG  6��� 6��� 
��� *%# 9C�WF �� � �@8�G� <�� ��  �� ���? *��Q3)�

 
��� *�;���� D+��& ��� �� .���;200  �%�J �� /��0 �� �� ����I�AC 33  u�0 �� (8�  -�&DC  .%$� �� 1�
3��

 (�%� *�, & �J��� ���) ����) (�J�L 6���B 4$��J5٪ )10  1 0 .()� *%# a��� ��,� <��� , ��%? (����I�

 ()� ����P %2` �� 	�� 
��� 
�$ <��� , �%�]12.[  

  

 +"#6 <�#�� .4 -  435�) D*�I3)�2 -  �� 6 ��B �
G2�WF  �� +:3� ������R�� 7  �2�8 /��0 ��VSC - 

HVDC �� >��� 
�$ 1�2I�) �� �� ��P 1�32& 
�$ �
-. .PMU.  

(89� E	F�� ������= I��@ '� �� ��� �'�� �B,  

 ���)�2# %2��� 
��; *��%�� �� �23�� 435�) ���)�2# 
�W#��
�%d ���iJ (8�. 
�iJ 435�) (N4SID) 

[23] (8�.) %2��� <�C�, (?� �� �� 1�32& +��? *�I3)� <�%2` �� ��%? 
�WC35�) 
�W8%� %2�� 3�� A DB DC D

D) (�2@� HVDC � �W� 
��� �$ *%22& 1�32& �.��0 
��� %2�� , �� *%# �G> 
�$ 1%� Tx).(��� ����� D



 

 

��Q3)� 435�) �"���2�� 
��%��=%� # *. (8�. �G> 
�$ 1%� 6���B ()� �� 
��� �E2�� �� �& �)�2# c�� -

] �� 6B 1 ��J ���� D()� *�, & D� # �� *��� ��& �� ���iJ24] D[26� # �� (J�� [.  

 1%�25 �G> �8�) -+��# 435�) ���iJ (8�. WF � DC-link ] �� ����� +Cd �� *��Q3)� ��24] D[26 ()%� [

%�B. )) +��& ��� �� 
� *��%K� <�� 
�$ (8�. �& ��� 6��� �` & 
�$ 1�2I�) +�-K, � ���E, D(�C)� ��� (d�

 D*%# �q2> ����B ��f = 0.61 Hz Dζ = 2.2٪ T��&�J �� ��� �-K� (8�. �� � f = 1.06 Hz � f = 1.09 

Hz. �� 
��� <��� , (Q# (8�. �� f = 1.68 
��)%) (�5� �� �,�$ ζ = 3.9٪ *%# *%$��� ��� ()�.  

(3  ���/� ;��C ;��2. � ��	�
  

 �� (�$� ���P 1�2I�))  I�)�= 
���� 
�$ 1�2I�) <��@, 
���11  �� D�
G2� <�� (8�. �� 
����� %��� 1�2I�)

 %# *��Q3)� *��Q3)� +��? *%$��� 
�$ c��[19].  ^�C,R��  �� >��� 
��� * 
8�� 
�$ (��) 6� 2d �� �$PMU 

 �� D%�%# �3J�; �A� ��(��) �� ^�I2W� ��J ����� 
��; *��%�� 
�$ *��� �& 
� 0 PSS � � R�3)� ��.  �����P�

1�32& 
���� WF � �-.�) HVDC  +"# �� �� , �� D1�32& 
�$ 
��; *��%�� /��0 �� 
� �
G2� (8�. ��8 

()� *%# *��� 6���.  

 �� �-K� �� >��� 1�2I�) D�`��x"� 435�) <�� 
���R�� 7 
��� VSC �) 
���� �`�;�) ()� *%# F��3�� �-.

 �2@�) ��� *�� �� �3C& 	E2) 
�$ 
��; *��%��R�� 1 D� �� <�� �� .��� �� <�� �� �� r��,�� �� ���� <�� ��� D(PSS 

 � �� >��� 1�2I�) ��� *�� �� r��,�� 
���?�� �� ���� ���R�� 1  *%# F��3�� *%# *%$��� 6���� <��,��� R�)���

G��C$ D()� +"# �� �& � 6 ��5� 
��o= 1�32& D*%# �3J�; �A� �� �E2�� �� 4�A2, 
��� .()� *%# *��� 6��� 

VSC  ()� �Pz� ����� �� ����
, +.�) ��WF.  ���Q3� *��N � 435�) (8�. D_�K� ^����"� �� ����%?� <��

. ()� 1�32& �.��0 �� +�? 4W� ��A.X� � � � %$� >  



 

 

  

 +"#7 
��� 
��5&�= � > ��J �) +5; �� �� V)�= �� 435�) �"���2�� ��3J� .5  �� +"�)R��  *��C#9  6�%�

 �� � (%�Q) � *��) ������) ��%? 6�) � ��W� 1�32&i) PSS  D(��B ��PB) �-:J ��ii (PSS  D(���? ������) ���iii) 

PSS � �� �3J�; +"# 
�$��H3� .(��) ������) *%# M2$�C$ �$ 
��subplot .%� # �� a���  

  

 +"#8 *%$��� 
�$ a>�# .
� �
G2� �, (8�. 
��� (*%# *��8����) *%$��� +��? � 1�32& +��? 
�$ a>�# :

 7�38� ��J ����� �& %$� �� 6��� *%#R��  ^�C, ��11 R�� .()� *%# 
��; *��%��  

�
��@ (< PSS  

�.��0 Z�0 ��� 
�$ 	�� ��� PSS 
��� ��: a) VSC  D+.�) ��b) � D*%�# =�) 
�iJ �� ��� �d��� c) 

� 6����J� ��� �d��� <�� �I2$�C$ VSC +.�) ��.  �2> �-�> ����
, (8�. (��q, 
��� *%22& 1�32& u�%$�

()�.  �%� �� �
G2� <�� (8�. (��q, 
��� 1�32& Z�0 �) �$12  �� �& � G��C$ D()� *%# �3J�; �A� �� ����P

 1�%�1 �.()� *%# *��� 6��  



 

 

1 (SISO �.��0 1�32& 
�$ �2��;)I DII): PSS Wind  ��-.�) PSS  ���� 6�"� c�� �� *��Q3)� �� %2�� , ��

 	�� �� *%# �J�@� 
� �
G2�IV-A  *%22& 1�32& �� ��E�� 
��� �-.�� <�8�� �2@�) %� # �.��0SISO 

 1%� �� 1��@3� 9�� , ��2", �� *��Q3)� �� ���>��& 1%� D��� � ^�C, �� .(�&�C3�13 ] .(J�� 	$�& ����23 D[

]27 �� h�,�, �� *%22& 1�32& �� �$ .[8  �� � T��&�J *��%K� �� (?� pQ. 1�. <�d �� � �3J�� 	$�& ��,��

 1�32& 
�$�3����= .�?XdPSS  
���PSS  +"# �� ���9 � 6���.()� *%# *��  

  

 1�%�I1�32& %�-& �) �� �
G2� <�� 435�) (8�. ������J � 6��� 4�A2, :  

  

 +"#9 
�$�3����= PSS  ��� *�� �� 7�38� ��J ����� �� *��Q3)� �� 1�@J ��%? 6 �)��%�) ���1  1�2I�) 6� 2d ��

(�� >���  

2( MIMO (Option III): 6� 2d �� PSS  �� 
���� *%# M2$�C$ �& 
�W-.�� �� �.��0 D()� 1�32& �
-.

	�� �� IV ()� *%# *��Q3)� �E2�� �� ()� *%# ��W2��=.  <�d �� � M2$�C$ *%22& 1�32& �� D1�� �-.�� ��

 � 0 �� �&�C3� 1�.^�IC$ *�I35�� � ��� �d��� �� �$ 
��� VSC  1�32& �� �E2� �& ()� *%# �.��0 �)�,�) ��

+��& MIMO  ��,�� ��13 �� # �. c�� D^�� �.��0 �-.�� �� �= , � $  �0 N _ -� � A2� �� *%# ��W2��=

 �C5� �� ! �� �& � # �� +�%�, �&�C3� �8�32& �� �� �,%Cd �& D��3>�) +��& 1�32& (4�
35���N 1�32&) 
��

 +"# �� �& � G��C$ D���; �� ���? �W�B �0 ��� _�K� 
�$ (��) ��6 �Cd� D()� *%# *��� 6���� # �� 1. 

 h�,�, �� 1��@3� 9�� , ��2", �� *��Q3)� �� �3��� 	$�& �� T= ���W� *%22& 1�32&8 ()�.  �32) *%22& 1�32&



 

 

 1�32& M2$�C$ �� � �&�C3� ��N *%22& 1�32& ��2 × SISO 
���� ����> 1���& �$ �& ()�- �� ����>4 

 +"# �� �& � G��C$ D()� ��,��10 ()� *%# *��� 6���.  

G)e�@i, g H∞  *%�B ()%� �&�C3� *%22& 1�32& ��1،417  1�32& �� �#�� e�@i, gG) �& �8�. �� D()�

 �&�C3� ��N *%22&1.446 ()�. ����� ��@� �� *��Q3)� ^�I2$ �& 4�3J���� �� MATLAB 43�� I8� �= , � $ 

^�IC$ �� M = 64 %�B ��.  

  

 +"#10  
�$�3����=PSS  1%��  �3&�� 6� , � ��� �d��� 1�@J 
���� 6 �)��%�) M2$�C$VSC  �� +.�) ��

 �� 7�38� ��J 
�$ ����� �� *��Q3)�R��  
�$1  �7 .(�� >��� 1�2I�) 6� 2d ��  

  

 +"#11 e-3�� 
�$ (d�) ��P�, :i {��� (d�) (ii 1%�� 
�$ 1%�� (WF {iii �� 1�2I�) r��,�� �� ��>t, (

 , 
�$ _�K� {
��� <���iv �� �� , �� �
G2� <�� (8�. ���
3)� 6��� �� 1���& *��� |�� (CPSS  �WPSS.  

.� � ���# �&�C3� *%22& 1�32& �� �
G2� � 0 �� �&�C3� ��N 1�32& �� �35� �
-. 435�)  

(� �'�� %��= +��	�  



 

 

O�� 
���� ���>��& �� �"���2�� 
��) ���# DIgSILENT  �5��
� � A2� ���2��; �) �� 435�) ��"-Cd PSS 

 +"# �� �& � G��C$ D()� *%# ^�E��7 +5; �� .()� *%# *��� 6��� Self-clearing  �� ��J �)R�� 9  
���

5 %# �3J�; �A� �� 1X3>� 6� 2d �� +"�).  

6�%� PSS +"# �� <�-�, 6���� 6���� �� �& � G��C$ D435�) V)�= D7 (a) �) � ���5� � # �� *%$��� ��

�) �� �� �$ �� �& �8�. �� D()� (%�Q) � *��) ������) PSS �� 6�) � D12 � # �� +:J � +. ����P.  �` �;�

����> ��%? �� �����H, D()� ����� %)� �� �A� �� 435�) V)�= WF 7�38� � DC ()� ���Q3� �2�8.  ��

 +"# �� *%# *��� 6��� D��� �d��� ��%? �@?�� ����> D1�q� 6� 2d7 (b)�� �3C& D PSS �� �3C& *%# M2$�C$ 

PSS ()� ���. ��� �� D(
�
. �� PSS �� ��� �d��� ����> ��%? D210  6���� �� �&) %��� �� 	$�& ����I�5٪ 

 ���� ��%? ��200  � # �� 435�) 6%�B <���= �� �E2� �& D(%)� �� ����I�-  +"# �� ���? ������7 (a) .  ��

 6� , �� Dm��3���� ^�E�� �� ��� ��%$���:  

1(�-.�) PSS:  �� +.�) ��  �3&�� 6� , �� }��� 
�� = �����H, � *�� �� 7�38� 1 �? +��? ��N ���H, �� �E2�

� #. 

2( PSS Wind:  �&) <��� , (d�) �� 9��) � }��� �3�5� �����H, D��"� 
�$ (���%K� 6���B ()� �� m��3�

� <�2fC$ � D(<��� , �Cd ��P�,7�38 DC ()� ������ ��. �@?�� ��%? 6 �)��%� WF  
�$��, ���� = �� r��,�� ��

.� # �� *%�� ��� 
�$ <��� , ((8�. (Q#)  

3(PSS �� �3C& O J 
�$��H3� ^�C, 
�� = �����H, 6���� 6B �� �& ()� O J �� � �� c��) :*%# M2$�C$ 

PSS � PSS 2& �Q�L� h�,�, <�� �� {()� R��J m�-> �� _��3#� �� +.�) 1%�� � 
��� �d��� <�� �-& 1�3

� # �� �3#�o;.  



 

 

  

 +"#12 :14  6 ��B 435�) D*�I3)�5  �� 
� �
G2�WF  �� +:3� ������R�� 315  %� �= /��0 ��VSC-

HVDC 
�$ *%22& 1�32& .PSS  1�2I�) ��PMU .%� # �� *��� 6���  

 1�%�2� +-C8� <�� /0�2� ������J � 6��� 4�A2, :  435�) �-K� 
�$ 6�"�5 ) 1�32& 6�%� 
� �
G2�PSS / 

WS / �-.�) VSS(  

  

(  J��	����> 1���F
 ;��2. � %��K.  



 

 

���
3)� ^�I2$ �� ���
3)� 6��� �� �$�3����= �� 435�) l���# ���H, ��Pt, <��@, � A2� �� (�)�5. +�-K, � ���E, 

PSS � ��� 
�$ PSS %# ^�E�� M2$�C$.  

  

 +"#13 .()� *%# 1���� (
� �
G2� <�� (8�. �) �� �� �$ 
���) *%$��� +��? � 1�32& +��? 
�$ a>�# :

��� C�  �2@�) *%22& 1�32& 
�$ 
���� 1�32& �� �!�> (8�. �& %$� �� 6��� O J 
��� �d��� �OnVision 

HVDC .� # �� 1�32& (��� C� � *%$��� +��? *%$��� gG) %$� �� 6��� ��� �� �� �$ �� U�> (8�. �� �

52 .()� r ��� r ��� r G>  

 +"# �� �& � G��C$ D�!X> �� ! �� m��3�11 
��� D()� *%# *��� 6��� i)  De-3�� ��� (d�)ii) WV  1%��

 D(
%2� ��,� %. �� 	��) T��&�J 
�$iii) � D
��J 
��� 
�$ <��� , �� 1�2I�) 1�
3�� �� ��>t, iv) �$ *��� |��.  

�& ()� *%# a��� PSS �� ��"-Cd �& �8�. �� {()� 
 ? �3�5� 435�) 
�$�3����= � l���# 
��� M2$�C$ 

Wind PSS � # �� �,%�.  �� >��� 1�2I�) 6B �� �& (�@��1000  
�$ <��� , �� �, %�& �� 1 0 ����P �-��

�� ���
3)� 6��� D� # T"@2� ��J 
��� PSS ��%. �� %��� �� 	$�& M2$�C$ 20  +"# �� �& � G��C$ D����P11 

(c) � # �� *%��.  

VI ���� %L9�B� . II: 14  E	F�� GH�=��5 %&B��  

 +"# �� �& � G��C$ D��8��3)� �?�# F 2� O�� 435�) *%2$� 6��� D�, *%�f�= �"�# �� 
�� �� 
��W2��= c��

12 %# %���, D*%# *��� 6���.  

���@� 435�) �� 6� 2d �� 435�) <�� IEEE �.��0 � �` & 
�$ 1�2I�) +�-K, � ���E, 
��� PSS  ��& �� �$

()� *%# �3J�;.  D���K, 435�)) ���� = �-C� �� �"�# 
�$�3����=PSS] �� 6� , �� �� (*��N � D29��& �%�= [. 



 

 

�� ���@� 435�) WF �2�8 /��0 �� *%# (� 
, �-.�) DC  ��R�� 315  +"# �� �& � G��C$ D()� *%# +:3�

12 ()� *%# *��� 6���. WF  +��#225 DFIG  <���, 
��� �& ()�450  9C� �C)� ��� (d�) �� ����I�

()� *%#. ()� *%# F��3�� ������ ���d �� (
��G� 
��� 1%�� 
%2� ��,�.  

(89� E	F�� ������= I��@ '� �� ��� �'�� �B,  

d l���# �� 
� �d CE� ���? �)��� �� � (1�
3�� r G> 6%# c ��> Xq�) �"�7 8 = , �����H, R�)��� �,��-C

(J�;. %# ��G> 6B �� T= 435�) � %# ^�E�� 6��� �� �� ����K� 1�
3�� l> �� �W2, 9G?.  �d CE� D<�����2�

� �-�? *%���= �� � �� �& �W���� +Cd (K, �G> (8�. 
�$ (8�. 
�$ (8�. 
�$ 1%� �� 
� ���? *��Q3)� �� 

%�B �� ()� �� D���; ��. *%# �3J�; �A� �� �� �8�
� <�� �� i)  D�C)� �� �ii)  ��%� 
��� ������ ��-�,312 - 

313 .(���� ���5� 6���� �� ����K� ��%�)  

 D%�� *%# �q2> ����B �� 
� ��.�� (8�. ��.�� �� �& ��� 6��� �` & 
�$ 1�2I�) +�-K, � ���E, D�C)� �� � ��

f = 0.31 Hz Dζ = 6.4٪  �f = 0.54 Hz Dζ  =1.9٪ (8�. �� �
G2� ^ ) (8�. .f = 0.36  � �� ��� �,�$

 �� �
G2� ��� D����ζ = 11.7٪  <�2fC$ .� # �� �q2>10 �-K� (8�.  /��0 �� �& ���� � ��PSS  �$� ,���7

 1�%� �� �& � G��C$ D()� *%# (��q,2  �� 
��� <��� , <��� , (8�. .()� *%# *��� 6���f = 1.74  �� �,�$

 
��)%) (�5�ζ = 3.6٪  (8�. �& %$� �� 6��� (&���� � 3&�J +�-K, � ���E, .()� *%# *%$��� ���0.54 

� ���$ *�I3)� �E�3� �� �,�$ ��.�� �� �& ()# 2  ��.�� �� �$ 6B �� ���#3  (8�. �& �8�. �� D%235$0.31 

 ��.�� �� ���$ <�#�� �� �,�$# 4  /0�2� �� �$ 6B 
�� ��# 2  �# 3 .%2& �� 6�) �  

(3  ���/� ;��C ;��2. � ��	�
  

 D*%22& ���K, 
���� ��PW � QINV �)��) �� O�� 6���� � D52 6� 2d �� �8%2�& r G>  ����> 1�2I�)

%23J�; ���? �� , �� � �����.  ��� �
-. 435�) 1%� D�I�� ����d ��2  ���� 
����- 52 ����>.  +�-K, m��3�

 +"# �� *%# *��� 6��� D*%$��� (�-��? / �-�-K,13 (��q, 1�2I�)) h)�2� 
���� 
�$ 1�2I�) ������� 
��� D


��� (*%# WF � VSC ���B ()� �� 
��� +.�) �� ���? *��Q3)� �� � �
G2� <�� (8�. �) �$ 
��� �Pz� �Pz� 6



 

 

(J�;.  �� l> R��& r G> DR�)� <�� ��206-215  �309-310  h)�2� �� >��� 
�$ 1�2I�) 6� 2d ��


�$ Z�0 ^�C, 
��� *%# F��3��) PSS)  ��� 6� 2d �� D%�%# F��3����� C� ()� *%# *��� 6��� <���=.  h8��

 (8�. D()� �� ,# 1 D# 3 �� �3��� VSC �-.�) �& �8�. �� {()� 1�32& +��? Mode # 2 �� WF  �3���

�� �& � G��C$ D� # �� 1�32& ��� C� � # �� *%�� ���.  +"# �� ������B 435�) uX> ��6  1�2I�) 6B �� �&


��� �J�& 1�� � ��A.X� D�-K� PSS �-.�)  �� �"�# <�� �� {(#�� ��5 ���J��H� ��.�� 
�$ �>�# ��� �� D�

 +"# �� �, <���=13  D� # F��3�� �;� � � # �� �J�&�� 1�� � *%$��� �� �E2� �-K� 1�2I�) �& � # �� *%��

�����& (���E��� � �K)) 1%�� %. �� 	�� 
��o;��� �� ����.  �2��; �W2, ��� *�� 
�$ 1�2I�) �� *��Q3)� <�����2�

� � 1 �? +��?.  *��Q3)� e@� r�
� �� D��>t, %2���) * 
8�� ���G> (K, �$%@� ��� *�� �� �� >��� 
�$ 1�2I�) ��

� # �� *��� 6��� �$ 1�2I�) <�� ��� *�� �� ��0��,�� �� (6��� ()�.  �����P�PSS  FY�� 
���� ����) � ��

+��d <�%2` �� ���� �I35� (�@? � D9�� , � ��� � � D435�) 
7 8 = , Xq� WF � HVDC � �� �"�# 1�:,� �G



�$ AC.  

 1�%�31�32& �
-. �) �� �
G2� <�� 
�$ (8�. 
�$ 435�) ������J � 6��� 4�A2, :  

  

  

 +"#14  
�$�3����=PSS ) ���MISO .(�&�C3� 1�32&  

  



 

 

 +"#15  
�$�3����=PSS  �&�C3� ��N *%22& 1�32&) M2$�C$MIMO.(  

�
��@ (< PSS  

�.��0 Z�0 ��� 
�$ 	�� ��� PSS  :
��� ��a( VSC  D+.�) ��b) � D*%�# =�) 
�iJ �� ��� �d��� c) 

� 6����J� ��� �d��� <�� �I2$�C$ VSC +.�) ��.  *��� g�� , ^ ) 	�� �� �& � G��C$ D1�32& �2��; �) <��

 �� ���) � 
�$ (8�. ^�C, �& � # +!�. 6�2�C0� �, %� # �� ���� ���;�%� � 0 �� D%#15  D%)�� ����P � G��C$

 1�%� �� �&3 ()� *%# *��� 6���.  

1���;%2` *%22& 1�32& 
�$ Z�0 ( (Single-Output) (MISO): 
�$ �2��; I DII: PSS Wind � PSS 

�-.�) 
%2� hG? c�� �� *��Q3)� �� .()� *%# �.��0 
�� � 6� 2d �� ����� �.��0 ��"��� �� *��Q3)� �� D

	�� �� *%# �J�@� 
� �
G2� IV-  
���� 1�2I�) �� *%22& 1�32& ��3>�) �& ()� <�� �E2�� �� ���Q, e8�

� # �� ^�E�� (8�. %2` ��W, 
��� ���;%2`.  

*%# �32) 
�$ *%22& 1�32& (Wind PSS � �-.�) PSS)  h�,�, �� �� �$30  %235$ -  ���>��& 1%� %2��C$

435�). %22& 1�32& D�3��� 	$�& �� T= ���W� 
�$ *%22& 1�32&
���� ���;%2` �&�C3� 
�$ *-����> 

(MISO) %235$ 4$����#. 1�32& 
�$�3����= PSS 
��� PSS  +"# �� ���14 ()� *%# *��� 6���.  

2*%22& 1�32& �.��0 (  )MIMO �2��;) (III): PSS  	�� �� *%# ��W2��= c�� �� *��Q3)� �� *%# M2$�C$

4  �&�C3� *%22& 1�32& �� D1�� .()� *%# �.��0MIMO -  *��; 1%� *��%�� �� �����30  -  �& ()� *� A2�

 +��& *%22& 1�32& �� �E�3� ��2 -  
����2 -  �� Tx) 1%� <�� .()� ����>14  .%��� �� 	$�& ��,��

 *%$��� 6���� <��3��� ��) ��� *�� �� 1�2I�) �� �� } 8 C$ �� �23�� 43�� I8� �� *��Q3)� �� *%22& 1�32& Tx)

�� (1�� �  1���& �$ ��3>�) .� # �� ���E, 1�32& 
�$ 
���� 6� 2dPSS  +"# ��15 ()� *%# *��� 6���   

 43�� I8� �& %# �3J���= , � $  �& ����� ��IC$M = 256 �35� �
-. T��&�J V)�= .30th  �� �&�C3� 4A�

��"-Cd (��>� ��) ����� ��"-Cd ��"-Cd ^��W` ��,�� �&�C3� ��N 
�$ 1�32& +��
�  _ -� +�8� �� ��A3�� �� �

 +"# �� �& � G��C$ (��3>�) +��& T��,�� 6��& �� �0 N16 .()� *%# *��� 6���  



 

 

  

 +"#16 .�&�C3� ��N �3J�� 	$�& � �&�C3� �-!� 1�32& �� �35� �
-. 435�) �5��&�J V)�=  

(� �'�� %��= +��	�  

 �� ��3@� 
�G> ��X3>� �� 
�Wd CE� D1�32& �2��; �) �����P� �)��� 
���DIgSILENT [17]  
�� ��

 +"# �� *%# *��� 6��� (5, 435�)12  ��.�� ����) � *%22& ���K, ��X3>� <��,%�%# �� �"� .%# ^�E��


%�-& 1�
3�� 
�$��%� �� �"� �� ��J �) 
�G> ()� �2���2�� De�@�. ; 
��� ��%� *%22& 9G? D�3? � 
�$ +5

 � ��C@, 
��� l> �� �� �� ()� <"C� D�� ! <�� ��N �� D� # �� 
��)��� 
��d ���-Cd � �%E� ��,�� ,�

� # �3#���� 
��%WI�.  

 �3J�; �A� �� �G> 
�$ ���2) �� r ��� 
�$ 
��) ���# D*%# �.��0 
�$ *%22& 1�32& ��"-Cd ������� 
���

0 �-.�� �� *%# *%�� �3J�; �A� �� �.��0 �� �& +5; l���# D6�2�C0� (�-��? �)��� 
��� � (���= �� �) �.��

 �� �) ��%� 6%# 9G? +��# D%��1*�I35�� ����� 
�$ +5; � ( VSC  �� �) �-.�)2 �2��; �) �$ �� �� , �� (

1�32& PSS ()� *%# 
��) ���#. �32& �2��; �) �� 435�) �� = ��3J� D(��W� ��1 PSS  �� ���? �)��� �� �

 �� �) ��>t, �A� �� �0��,�� 
�$ 435�) �� * 
8�� ���G> �& ����� ���;3 �� �) +��& 1�2I�) 6��� ()� �� � (

4%$� �� |� ��� *�� �� >��� 
�$ 1�2I�) �� (.  



 

 

 ���� <��t,10٪ ()� *%# a��� ��,� <��� , ��%? ��. �� �� 
��) ���# �$ 
��� ��� ��X3>�  �) %��� +5;

 
��� ��J100 ) ����P �-��5 ()� *%# �3J�; �A� �� (+"�):  

1(  r G> <�� r G> :���= �� �R�� 312 -313 ��%� *%22& 9G? ��,�� ,� 	�=��� Tx) �.  

3(  �� �1 :R�� 305  <�� r G> �� �"� 9G? �� T=R�� 305 -307.  

3( *%� # �35� � > ��%� *�I35�� 

4(  �� �3 ��P�, :*�I35�� � 
��� 
�$ <��� , �� ��� *�� 
�$ 1�2I�) r��,�� �� ��>t, VSC �-.�).  +5; (�@��

()� ���= �� � �� ���#.  

5 �� � (4 *�I35�� �� / � 
��� 
�$ <��� , �� ��� *�� 
�$ 1�2I�) r��,�� �� +��& 1�2I�) 6��� ()� �� �P� :VSC 

.()� ���= �� � �� ���# +5; (�@�� .+.�) ��  

  

 +"#17 +5; �� V)�= �� 435�) �"���2�� ��3J� .3  
��� ��J5  l> �� +"�)312-313  ��&� > 6B 1���� �� �

 1�32& 6�%� .*%22& 9G? ��%� �%E�PSS  �� � (%�Q) � *��) ������)i) �-.�) PSS  D(��B ������)ii) PSS 

Wind  � (���? ������)iii) PSS  
�$��H3� .(��) ������) M2$�C$ �$ 
��� �� �3J�; +"#subplot  a���

.%� # ��  



 

 

  

 +"#18.  +5; �� �� V)�= �� 435�) �"���2�� ��3J�3  �� ��JR�� 305  
���5  �� �"� 9G? �� T= +"�)

 <�� r G>R�� 305-307 (��� C� ac)  �� 435�) V)�= �3  �� ��J 
�G>R�� 315  ��� ��&� > 6B �� T= �

��%� j�\ ) 6%# ( DF). 1�32& 6�%� PSS (�� � (%�Q) � *��) ������ i) �-.�) PSS (��B ������) Dii) PSS 

Wind (� (���? ������ iii) PSS .(��) ������) M2$�C$  

����) � <�%2` 6��& +. u%$ �� *%# �.��0 
�$ *%22& 1�32&  s�d ��15  1���� �� (��"-Cd 
�$���@�) ����P

��� D<�� �� *�Xd .()� ��X3>� �& %2`�$ D%#�� �3#�� 1���� �� �� (6�2�C0� (�-��?) O J ��X3>� �� �� �$ %

 ��� � �C$ �� ��X3>� .(�Q?� 6�%�) ()� ���= �,��-Cd l���# �� �23�� �.��01  
��) ���# ���# �� T= ����P

:%2& �� 6��� �$ �3J�� �� �G��� �� �� 
��� � 
%@� 	�� .%# ��E��  

1(  :���= �� � +"# �� 1X3>� �� T= 435�) �"���2�� V)�=17  �� � �@8�G� �� �& � G��C$ .()� *%# *��� 6���

1�32& �2��; �) ^�C, D�-�? PSS  s�d �� 
� �
G2� %2` 
�$ (8�. 6��& �2> �� ���?15 %2#�� �� ����P. 

��2&�� ��%? �� �3��� 
�� = �����H, D�-�? 
�� � �@8�G� �� ���# VSC +.�) ��  ��PSS  ����� +!� J ��

�� 4A2� PSS ()� ���� �� � *%# M2$�C$. 7�38� �� �#�� �����H, D1�. <�� �� AC  6� � 4& +�8� �� +.�) ��

(�)�5. Q-V  ��R�� ()� ����� +.�) ��.  

2 ( �� � (1  +"# ��18  �A� �� � 6��� �%� �� *��%K� <�� ����) � �& � # �� *%$��� (e8�)15 ��� ����P 


 ^�"K3)� ���� �� � <�����2� � %� # �C� �3J�; �A� �� *%�� 1�32& 
�$ �.��0 �� �& +5; �� T= ��"-Cd l���#

 .%2& �� +CK, �� ��� ��%? 1�
3�� ��%� ���� ()� %�%# ���5� 9G? (�@�� �� <��PSS  ��%. �� ���� ���20 



 

 

d �� �& ()� 
� �
G2� <�� 
�$ (8�. 6��& �q2> 
��� ����P �� �& � G��C$ D()� �� = �� = 
�$��� 
��o;��� (-

 +"#18 )b +"# �� �& � G��C$ .� # �� *%�� (18 )c 6� , �� (6�) �) �3;��� 
�� = �����H, D� # �� *%�� (

 ��2&��VSC  �� +.�) ��PSS Offshore (+ 240 / -420 MVAr �� (PSS ) M2$�C$± 190 MVAr (

.()� ^��  

3(  �� �2:):  �� �G> ��R�� 315 �"���� �� �& VSC ()� *%# 
��) ���# �-.�).  �� *%�B ()%� m��3�

) +"#18) (d) - (f)  �� � �� �3J�; �� ! 
�$ 
��; �E�3�1 %2& �� (��P ��. 

4( :6�W2= 1�2I�) 	�� �� �-�? �� � �@8�G� �� V �� �� >��� 1�32& 
��� R�3)� �� � � � 
�$ 1�2I�) �W2, D

� +�8�%# �3J�; �A� �� �
G2� (8�. <�� F > ��%$��.  *�� 
�$ 1�2I�) �� *��Q3)� 
����� D
�� � �@8�G� ��


��; *��%�� %.�� �� � � � (�-K� 9Q� ��) ��� (PMU)  	�� ��VI-B � # �� ��� ,.  

  

  

 +"#19 *�I35�� � 
��� 
�$ <��� , �� ��� *�� 
�$ 1�2I�) r��,�� 
���?�� �� ��>t, ��Pt, VSC �� �-.�) 

��� C� (a) - (b) ()� *%# *��� 6���. (c) - (d)  1�2I�) 6��� ()� �� �� T= 435�) �� 
��Pt,206-215  ��

*%22& 1�32& �) ^�C, PSS %$� �� 6���.  +5;3  
��� ��J5  ��& l> �� +"�)312-313  6B 1���� �� �

*%22& 9G? ��%� �%E� ��&� >. ��� �� �& ������ ��K�� , ()� *%# *��� 6���.  



 

 

 D1�2I�) ��>t, �� Xq�) (8�"�� �& %$� �� |� ����� * 
8�� * 
8�� ����P�, ���� �� ! �� �$ �2��$ <�� D� �� <�� ��

1�2I�) +��& 6��� ()� �� PMU) %$� �� |� ��� *�� �0��,�� 435�) ��. ��>�, D�C)� *%���= 
��� PMU 

 ���%��3)�20 �� r ���) ����P �-��  
����� �� C�50 1���& �� �$ 
��� (�,�$ PSS ()� *%# Z�G� M2$�C$.  

 (��P ��>�, �� �@8�G� <�� 
��� D1�2I�) ��>t, 6��� ��Pt, �)��� 
���200 
��� ����P �-�� PSS �-.�)  �� �

�� ��>t, �& �8�. �� D4�3J�; ���? �)��� PSS Wind  ��250  �,1000 � � ��H3� ����P �-��. G��C$ X�? �& � 

 �` & 
� ��.�� 
�$ (8�. �� �$� ,���7 �� *��; ^�%& �& ��� 6��� (&���� � 3&�J +�-K, � ���E, D%# *��� 6���

)0.31  �0.54 %���& �C& (�,�$.  (8�.0.31  
�$ ��.�� <�� ��& l> 6���� �� �,�$# 1 - # 3  �� �$�L

 (8�. �& �8�. �� D� #0.54 /0�2� <�� 6���� �� �,�$ # 2 - # 4 ()�.  

 +"#. 19 (a) D(b)  ��>�, �, 1�2I�) ��>�, ��Pt,1000  �� 6��� �� �
G2� <�� ����K� (8�. �� �� ����P �-��

%$�.  �, ��>�, �� �� , �� � )�xC& <��1000 ��� 1���& 
��� ����P �-�� PSS%# � �C& ��`� D.  ���� �� � �� D�3�8�

1���& �� ��>�, �& PSS  +.�) �� �� 	�� ((8�. 6��& 4> �� �CW� 	
� 
�� � �@8�G� <�� �� �&)200  �-��

� # �� �,%� 
� �A.X� +��? �35� �
-. V)�= T= D()� ����P.  �� �.��0 �-.�� �� ��>�, D
��� � <�2` ��

(J�I� ���? �� , �� � �8�
� <�� �� ��2� <�� �` �;� D� # �3J�; �A� �� %��� (.��!.  

5( Case 4 (Signal Loss):  r��,�� ^%d �� ! �� �$ *%22& 1�32& �����P� D4W� 
�$ ��2� �� �I�� �"�

()� 1�2I�) r��,��.  �� Y��,� ^�I2$ �35� �
-. 435�) 
�� �� ��P�, �& ()� <�� �E2�� �� �& ()� <�� +"��

�&�C3� *%22& 1�32& (i) 1�q� 6� 2d ��) �&�C3� *%22& 1�32& PSS � � R��J m�-> ���� PSS) ����� �� (ii)  ��

1�q� 6� 2d ��) �&�C3� ��N 1�32& PSS  � G��C$ D%$� �� |� 6��� ()� �� 1�2I�) �� �& ���I2$ (M2$�C$

 +"# �� �&20 ()� *%# *��� 6���.  

  



 

 

 +"#20 �� �35� �
-. 435�) .i) D(v`) �&�C3� 1�32& ��3>�) (b (J� .(()��) �&�C3���N 1�32& ��3>�) (

 1�2I�).()� ���? �� *%# *��� 6��� �� >���  

 +"#19 () �� >��� 1�2I�) �� 6��� ()� �� �P� �& %$� �� 6��� (�) � (k206-215)  �� +:J � +. 6��� ��

) ���� ����B �� �
G2� 6��� (8�. �� <��0.31  �0.54 1�32& 
�$ �2��; �) �$ /�0 (�,�$. ��� �� PSS  ���

5� �
-. ��"-Cd (���? ���P�) ��� �
-. �� � �� �� , �� �3( ���5� (8�. 6� 2d �� �,%� ���5� (%�Q) � *��) ������

()� *��& ���H, �8��> � K� �� �����.  �� k��> l���# /��0 �� 1�32& 
�$ �
-. <�� +��
3� 1�:,� +�8� �� <��

()� 1�32& �G?. �� PSS Cd ��� D��& *%$��� 6� , �� �� �W���� �P� (��B ���P�) ��� *%���= (C) �� ��C> ��"-

%2& �� ���H, �
-.. � # �� pQ. �$ (8�. 
��) �2> ����� , D�&�C, ^%d �� ! �� D1�. <�� ��.  <�� �� <��

 *��) �W2, �� �& D%� # �� �%� �I�%"� �� 
��J 1�32& 
�$ �
-. � ()� F� � _ -� 1�32& ��3>�) �& ()� +�8�

�� ���� �&�C3���N 
��C@� �� �,  �� 48�) 1�32& 
�$ �
-. /��0 �� �� ��"-Cd �� �:��� gG) �� �"-� D� #

��� *�� �� �� >��� 
�$ 1�2I�) (�C$ �� ���) %2` �� �� �� 6��� ()� �� �� !.  �� +!�. m��3� 	�� <�� m��3�


G2� e-3�� (8�. %2` �� �, �-Cd 435�) �� �� D1�. <�� �� {%2& �� (��P �� �-�? 6 ��B �"�#�.  

7 ���6 %K�	�.  

 
�W8%�� � ������ ������ ����� l) , *%# M2$�C$ 
���� ���� 1�32& �����P�VSC-HVDC  �& +.�) ��

 c�� *%�� �� *��Q3)� �� 43�� I8� �� D� A2� <�� 
��� .%# �\��� %2& �� +:3� �� 
��� ����� <���= , � $  �� �

 ���H, (F� � _ -�) �&�C3� ��N *%22& 1�32& �� �� �&�C3� 1�32& �� �� �� *%22& 1�32& �& (J�; ���? *��Q3)�

 �� �W2, �"���"� �C& �� %�� , �� �W���� �"���"� ��"-Cd .��� +"#VSC  ()� �� �-.�) 
��� �d��� �� �-.�)

 
�� � �@8�G� �� �� *��Q3)� �� D� �� <�� �� .%�B �� k��> 	$�& ��K8 �� l-3�� 1�32& �& ()� *%# *��� 6���

AC  %. �� 	�� (�J�L �� �� , �� �& �8�. �� D� # �� �-.�) 1%�� *�I35�� �� 7�38� (A-N 	$�& h� �

HVDC .��� <��� , 
�$ 1%�� �  



 

 

 

 


